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b3-ch3-2.R

fv <= function(rate, nper, pmt, pv = 0.0, type = 0) {
pvif <- (1+rate)"nper # Present value interest factor
fvifa < if(rate==0) nper else ((1+rate)"nper — 1) / rate
return(—((pv * pvif) + pmt * (1.0 + rate * type) * fvifa))
h = fvirate=0.12, nper=20, pmt=-20000, type=1)
fv(rate=0.12, nper=20, pmt=-20000, type=1) [1] 1613975
fv(rate=0.01, nper=41, pmt=-100000, type=1) = fvirate=0.01, nper=41, pmt=-100000, type=1)
[1] 5087899
pv <- function(rate, nper, pmt, fv = 0.0, type = 0) {
pvif <- (1+rate)"nper # Present value interest factor
fvifa < if(rate==0) nper else ((1+rate)"nper — 1) / rate
return((=fv — pmt * (1.0 + rate * type) * fvifa) / pvif)

= pvirate=0.07,/12, nper=60, pmt=-35000, type=1)
} [1] 1777881

pv(rate=0.07/12, nper=60, pmt=—-35000, type=1) » pv(rate=0.18/12, nper=36, pmt=-130149)
pv(rate=0.18/12, nper=36, pmt=—-130149) [1] 3600010

pmt <- function(rate, nper, pv, fv=0, type=0) {
rr <— 1/(1+rate)™nper
res <— (—pv—fv*rr)xrate/(1-rr
-p ) / ) = pmt{rate=0.18/12, nper=36, pv=3600000,fv=0, type=0)
return(res/(1+ratextype)) [1] -130148.6
) .

pmt(rate=0.1/812, nper=36, pv=3600000,fv=0,type=0)

> fv(rate=0.035/12, nper=c(12,18,24,35,60), pmt=-350000, type=1)
[1] 4280483 6477482 8713209 12914905 22979969

fv(rate=0.035/12, nper=c(12,18,24,35,60), pmt=—350000, type=1)

_ _ _ = pmt{rate=0.1,/12, nper=c{6,12,18,24,36), pv=10000000)}
pmt(rate=0.1/12, nper=c(6,12,18,24,36), pv=10000000) [1] -1715613.0 -879158.9 -600570.8 -461449.3 -322671.9
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fv Estimate future value (fv)

Description

Estimate future value (fv)

Usage
fv(r, n, pv = @, pmt = @, type = @)

discount rate, or the interest rate at which the amount will be compounded each
period

number of periods

present value

payment per period

payments occur at the end of each period (type=0); payments occur at the be-
ginning of each period (type=1)

Estimate present value {pv) pmt Estimate period payment

Description
Description
Estimate period payment
Estimate present value (pv)

Usage
Usage pmt(r, n, pv, fv, type = @)

pv(r, n, fv = @, pmt = @, type = @)




b3-ch3-2-FinCal.R

library(FinCal)

= T

— [1]

fv(0.12,20,0,-20000,1)
fv(0.01,41,0,-100000,1)

.= v

pv(0.07/12,60,0,-35000,1) —
pv(0.18/12,36,0,-130149,0)
Dmt(0.18/12,36,3600000,0,0)§
fv(0.085/12,n=c(12,18,24,35,60),0,-350000, 1)
n1<-c(12,18,24.35,60)

amount1<-fv(0.035/12,n1,0,-350000,1)
table1<-data.frame(n1,amount1)
table

pmt(0.1/42,n=c(6,12,18,24,36),10000000,0,0
n2<-c(6,12,18,24,36)
amount2<-pryt(0.1/12,n2,10000000,0,0)
table2<-data.frame(n2,amount?)

table2

\

= fv(0.035/12,n 18,24 ,35,80),0,-350
[1] 4280483 6477482 209 12914905

nl<-c(12,18,24,35,60)
amountl<-fv(0.035/12,n1,0,-350000,1)
tablel=-data. frame{nl,amountl)
tablel

nl amountl

12 4280483

18 6477482

24 B713209

35 12914905

el 22979969

T[]

-555555555“‘--~§§’ = pu

\ [1]
\

= pv

(1]

> > pmt(0.1/12,n=

[1] -1715613.9

\

22979969

(0.12,20,0,-20000,1)
16139753

(0.01,41,0,-100000,1)
5087899
(0.07,/12,60,0,-35000,1)

1777881

(0.18/12,36,0,-130149,0)

[1] 3600010

> pmt(0.18/12,36,3600000,0,0)

-130148. 6

ci(&,12,18,24,36),10000000,0,0)
-879158.9 -600570.8 -461449.3

n2<-c(6,12,18,24,36)

amount2<-pmt (0.1,/12,n2,10000000,0,0)

table2=-data. frame{n2, amount2)

tablez

n2
]

1z

18
24
36

amount?
-1715613.9
-B79138.9
-600570. 8
-4p51449. 3
-322671.9

-322671.9



